i H AN K4 gL k2 LR ik
100m SAnr—2 | I EA(2) 1 {7 10.66 +1,2
S TEEE(2) 2 fiL 10.72 +1.2
HH tE©) 31 10.76 +1.2
WA Am2) 4 fir 10.83 +1.2
HE KO 5 10.92 +1.2
KEF HEQ2) 74 10.98 +1.6
—H &K@ 11 7 11.03 +2.6
JH  FHKER(2) 13 fir 11.06 +1.2
AR BRYR() 19 fif 11.09 +2.9
M RE(2) 22 if 11.15 +1.6
/NP T5E(L) 33 fiL 11.27 +2.6
fEE K2 35 fir 11.28 +2.2
R BEVRER(1) 40 i1 11.34 +2.9
HH O EXRQ 42 {if 11.36 +2.6
Wil s 43 fif 11.37 +2.6
IR Hik() 47 L 11.43 +2.6
REf ook 57 {if 11.56 +2.3
SIS FREE(2) | 102 4L 11.92 +3.7
i sRoK(1) | 196 fif 12.50 -1.2
200m ZADL—A | FH K—(2) 3fr 22.15 +2.7
£ HeRE(2) 4 fif 22.20 +1.5
WHE A©@) 5fir 22.26 +2.7
EH A 6 fir 22.28 +2.7
Wr ) 12 fir 22.88 +2.7
400m A4 nL—2 | AH MEE() 1z 49.99
B H A1) 2 fir 50.37
R AiE(2) 3fr 50.37
etk EA(D) 6 fir 50.96
=N 8 fir 51.35
i b (L) 9 fir 51.74
fEH ) 16 fif 52.25
Z - UN ) 17 i, 52.32
H RE2) 21 fir 52.80
e A RR (1) 24 it 54.43
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i H VAN K4 gL Bk LR ik

110mH A4 nv—2 | KT B2RQ) 2 fir 15.78 +1.4

o V) 3 15.79 +1.4
400mH A4 nL—2 | B O KHEQ) 2 fir 59.46
— Bk 7 FAJR fE=H(2) 2 fir 14m09 +2.1

TEAK A 2H(2) 6 fir 13m45 +1.1
ANEBE 7 B B 17 6m49 +2.4
AL 7 LIl 526 (2) 1 {7 13m22

A OHEQ) 3 11m90

AZE Q) 6 fir 10m46
SSlUE's wm A OHEEQ) 2 fir 51m37

Ll 526 (2) gRA 42m61

P b (1) 11 i1 39m51

BEH RO 12 i 38m49

Az 24 19 fir 29m57

e AT 21 fif 28m01
4X100mR | # A4 2L—= | KB FHEL(2) 1z 41.26

B & @)

WE 5UE©Q)

SR TEEE(2)

TS YN 2 fir 41.77

I = ()

JH  FHRER(2)

s Am2)

HEE S KO 6 fir 43.02

/NP T5E(L)

EH A

AR BEYR(1)
4X400mR | # A 2L—2 | £ EHKXKQ) 147 3:23.29

A MER(D)

ERAEERES: 10D

i b (L)
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i H VAN K4 gL Bk LR ik
4X400mR | # A4 2L —2 | BEH EAQ) 3L 3:27.35
etk A
/NP (L)
M KE(Q)
i H VAN K4 JEAL Gk JRGH i
100m SA4nr—2 | AR BR3E() 2 fir 12.26 +1.0
5 EAEQ2) 3 12.60 +1.0
K EOZ27=(1) 5fir 12.68 +0.5
g =) 6 fiL 12.69 +1.0
/N B A (1) 9 fir 12.85 +0.5
K #iEQ) 10 i 12.90 +0.5
HE AR 24 if 13.29 +1.0
200m ZABL—2 | FI o FERKQ) 1fir 25.05 +1.0
AH  BLH(2) 2 i 25.45 +1.0
= v HHET5(2) 34 25.66 +1.0
K F22(1) 4 fif 25.84 +1.0
MR350 d A >(1) 6 fir 26.87 +1.0
B EZR(2) 9 fir 28.16 +1.1
400m SAnL—2 | D EZQ) 2 fir 57.41
HHE O &FHIQ) 3 58.34
A BhEE(2) 6 i 1:01.73
A AxE(2) 8 fir 1:02.81
100mH B JFREF  JRFE(2) 1 {7 14.00 +1.7
A SEAh(1) 2 fir 15.63
L R FE 2R ©Q) 1z 11m81
HHE O AEQ) 2 fir 10m91
0 N o #RQ) 1 {7 34m67
4X100mR | ¥4 HL—2 | I & 7 7):(1) 2 fir 50.35

ML EZRQ)
BREF I5E(2)
BA A1)
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i H

AN

K4

NEQL

LR

e

4X400mR

HA DL —R

I S O
/N % 2(1)
KB F22(1)
A BhEE(2)

1AL

4:02.14

= IHHET(2)
NI L))
m EREQ)
Al HREE(2)

2 fiL

4:02.33

o =@
I k(1)
i EO7272(1)
KA ()

4z

4:05.58

Rl EZE2)
A BR3E(2)
HHEAHIR)
mmE HER)

5 AL

4:06.54
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